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My name is Takahiro Kondo.

Let me start affirmative constructive speech.

We affirmative team, believe that we should prohibit smoking cigarettes.
Let me explain our plan.

First, we'll become healthy when we prohibit smoking cigarettes.
Second, prohibiting smoking cigarettes will lead medical expenses.

The two speakers of our team will explain these points.

This is the end of the affirmative constructive speech.

Thank you.
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My name is hiroshi hayakawa.

Let me start affirmative explaining speech.

We, affirmative team , believe that we should ban smoking cigarettes.

Because, if we don't smoke,we ca maintain our good health .

Smoke generated from cigarettes is harmful for the people around smokers.

Smokers of men will have four times higher possibility of becoming lung cancer than
non-smokers.

Smokers of women will have three times higher possibility of becoming lung cancer than
non-smokers.

Therefore I believe we should ban smoking cigarettes.
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1. My name is Nana Okamoto.

2 . Let me start negative attack speech.

3. the affirmative team said, "Banning of smoking" will mean healthy life for non-
smokers in the future.

4 . However, we don't think so.

5. I will explain why.

6 . Itihnk "Banning of smoking" would have a negative effect on smokers.

7 . Wen a man feel stress from wrok, he can relax and calm down by smoking.

8. Some smokers will be emotilnally stable by smokin.

9. Therefore even-though it might be healty for non-smokers in the future, it would
have a negative effect on smokers.

1 0. This is end of my negative attck speech.

1 1. Thank you.
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My name is Takada Masashi.

Let me start affirmative explain speech.

We, affirmative team, believe smoking should be banned by law.

Now, I will explain the second point.

We can cut the government’s expenditure by prohibiting smoking cigarettes.

Smoking is bad for health and causes lung cancers, strokes and myocardial infarctions.
These illness needs much money to be cured.

The government pays 70% of the medical fee of people.

In 1993, the government’s medical expenses for treating cancer caused by smoking was
32 hundred million yen.

If we prohibit smoking, we can reduce the government’s expenses.
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My name is Takahashi.Let's me start negative constructive speech.Our negative team
believes that smoker and non-smoker aren't much so different about using medical
expenses.

First,there are a lot of data,"Death number is ninety-five thousands and medical
expenses 1is five trillion because of smoking."on the Internet.

But the man said,"This expensive medical expenses were calculated by overlapping
the asimption."In other word,this estimate is wrong.
Second,medical expenses are not five trillion but one trillion.All man will use medical
expenses.So,l think if smoker's life span is shorter than non-smoker's,the amount of
their medical expenses will be smaller and smaller.

Last,I think there is not much difference between non-smokers and smokers.So I
disagree to banning of smoking.

This is the end of the negative constructive speech.

Thank you.
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My name is Karen Suzuki.

Let me start negative constructive speech.We ,negative team belive that we should

not ban smoking.
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Let me explain our plan.

First, we will not get the revenue of cigarette tax if we ban smoking.

The revenue of cigarette tax is about one trillion yen a year.This is a big loss.
Second, the cigarette industry will suffer financial loss.

Two speaker of our team will explain these points.

This is the end of the negative constructive speech.

Thank you.
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My name is Sumino Seiya.

Let me start negative speech.

About the reason that banning of smoking will lead to the government’s tax less.

Cigarette taxes have more than 2 trillion yen per year, that is equivalent to 1% of

the consumption tax.

If cigarette smoking is banned the government must raise other taxes.

Therefore , the burden on the people will increase and people’s life becomes harder.

Therefore , I don’t believe the total ban on cigarette smoking is no good .

This is the end of my negative explaining speech .

Thank you.
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My name is Ishitani Arisa . Let me start affirmative attack speech. The negative team
said, we must raise other taxes due to losing cigarette tax. However, we don’t think so.

I will explain why.

First, the medical expenses caused by the cigarette smoking are 1700 billion yen, the

loss amount of the work force is 2300 billion yen.
In total, the economic loss by the cigarette smoking is 4000 billion yen. In contrast, the
cigarette tax is 2000 billion yen.The loss is a lot more then the profit. Therefore we

believe that we must ban smoking.

This is the end of my affirmative attack speech. Thank you.
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My name is Nakajima shota , Let me start negative explanning speech .
We negative team don't believe that ban tabaco .

Now I will explanning the second point economy .

Tabaco industry brings a lot of benefits to people .

If we ban tabaco , many people will lose their jobs .

For example , people who grow tabaco plants ,People who produce cigarette , and
people who sell tabaco .

Revenue of tabaco industry is 2 trillion 84 billion yen .

If we ban tabaco , that revenue will be lost .

Life time income of a person is around 2 billion yen .

So I think tabaco industry is a huge industry and valuable industry .

This is the end of our defense speech .

Thank you .
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My name is Onodera Shohei. Let me start affirmative defense speech.

First, they attacked our explanation, by saying that the tobacco industry will suffer
economic loss. However, this is not true because the number of smokers is decreasing in
recent years. In other words, the tobacco industry is getting smaller.

Then, I will give you further explanation. I think damage to other industries is small,
because there is only one tobacco maker in Japan namely, JT.

Second, they attacked our explanation, by saying that the employees are fired.
However, this is not true because JT manufactures not only tobacco but also medical
supplies and foods too. Then, even if the government decides to ban tobacco, JT will not
go bankrupt immediately. So, I think all of the employees aren’t fired.

This is the end of our defense speech. Thank you.



11 BpkF—2 &0
G ¥F B13T2027C I &K

GHIOIETT, REHEMT —21E, [TIEZ 2 2mEEEICT & L) Tl
LFE L7z, RHANZZ AN2iZA P RAEEL, VI v 7 A2 bTe b3 Ll _F Lo,
X ZIIWRUC 5 ) A7 B E L, FRUCERDEREIFENEGHE L TCWET, 2,
XL DB HHIZL T, THUIEREICEZ TWADOLFRITTY,

A PV RAZRET 5 FEROMICHDH1TT T, £72. BIRMEITE Y OBRRW AL IZHHE
WEREHZET, 1LANRIEIE200DH 2 LT, 2OV OFESKELREICRDDOT
R

Lo THEOTENBNE S X ET,

My name is Takahiro Kondo.

I will now start the affirmative summary speech.

First, let me confirm our affirmative speech still stands.

As for the negative team explanation, “People relieved stress by cigarettes”, but “There
should be other means to relieve stress, also the cigarettes smoking will increase the
risk of becoming sick”.

And the negative team said “We got taxes from cigarettes”,

However more money is needed for medical expenses.

In addition, the side stream smoke gives adverse effects to people around smokers.

If one gives up smoking, the family and friends around him or her will become healthy,
too.

For these reasons our affirmative team speech is still stronger.

Therefore our team has won this round. Thank you.
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My name is Ido Yuta.
I will now start the negative summary speech.
First, let me confirm our negative speech still stands.

The government can't get cigarette tax, and Cigarette Company get financial loss.

As for The affirmative team explanation; "smokers can become healthy",

Certainly, they can become healthy physically

But, they can't become healthy mentally.

Banning of smoking will affect on smokers mind.

And, the affirmative team said "the amount of government medical expenses will
decrease.

However, this is not true because all people need same medical expenses.

So the government total expense caused by smoking is much less.

For these reasons our negative team speech is stronger.
Therefor our team has won this round.

Thank you.



